oS 2oA /B = 30°< u,
AABC 9] HolE Fsfofzt.

> =
> mg: 2
2

AABC = 1 X7X6sin30°

1
1

2
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@ 41V2 @ 42VZ2 @ 43V2
@ uvi )52

0% 10 x sin 45° = 9 x 10 x Y2
=452




2 SHAGE]E ABCD oA AC =
18 cm, «DOC = 60° ¥ o, cABCD 9
Blo]E Fotofet,

Ch " 2
| — )

>
> Heh: 8143 cm?

~&B

ODABCD & SHIAICE[Eo| B g2

AC =BD = 18cmo]th,

OABCD = % X 18 x 18 x sin 60 °
V3

1
= - X18X 18X —
2><8 8 5

=813 (cm?)




4.

the 4730l Hols ek A

O 7V2cm? @ T+V3cm? 2cm
@8\/501&12 @ 8+v3cm?
® 9v2cm?

~&B

1
(Fol) = = x 2 x 16 x sin (180° - 135°)

=§><2><16><sin45°

=%x2x16x\/7§:8\/§(cm2)




U2 A Fol A Yo/t & iRz 5 &
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1 1
= -_— 4 _——
@S 5 X ><7><2 7

1
@S =5x4x3=6

1
@S =5 x4x3=6

1 3
@S:§x6x4x ‘é_

6 V3 = 10.392

V3 253
2 T 4

=10.82
2 0.825

1
@S:§x5x5x
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®3 @3V ®30V ®32v2 O 32V

~&B

(BAAME ABCD o] Hol)

X 10 X 6 X sin45° X 2

V2

1
=-X10X6X — X2
2 06 2

=30v2

1
2

A D

v

B~——0——-=¢C




ohe 1917} 2ol ¥R E2] 2o} 10em 91 Lol sk Buze el

HolE Fotolel,

@ 200 cm? (@)200 V2 cm? ® 20043 cm?
@ 202 V2 cm? ® 202 V3 cm?

B

360° + 8 = 45°
1
(AAOH ¢ Ho])= 5 X 10X 10 x sin 45 co|E g

V2

e 1
(B9 %‘Ol)=§x10x10x7xs

=200 V2 (cm?)




8. o2 1¥olA AB = AC = 20cm, £C = 75° &
™, AABC ©] WelE Fatefet.

\VARR 4
0x
i

100 cm?

~&B ~

1
AABC = - %20 X 20 x sin 30° A

1
= —x20x%x2 —
2>< 0 x 0><2
:100((:1112)




o 172 gABCD o)A F tiZH4de]  p

Z0]7} 24cm, 16cm ©]1L 5 tjzHA o]
1%= 2ol 2717k 70° € W, DABCD

o] Wolg ¥r&dsto] de] 27t

Fatole}, (T, sin70° = 0.94)

o O

Ch " 2
[—

| 2
[> HED 180cm?

~&B

(dol) = 1 x 16 x 24 X sin 70°

= 5><16><24><O.94
= 180.48 = 180( cm?)
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o] Sy + S5 -5, & F5tof=h

\VARR 4
0
i

o4

L 39AY T Hol 6 o] 1 7|2 Zto] 30° 2l
F 12 712 o] T Ut

S=-X6x6xsin30°=9

40124
7}

7]
ol F A
1

2
81=SX5=45
So=8Sx%x3=27
S3=Sx4 =236

wabA] S; + Sz — Sy = 45 + 36 — 27 = 54 °o]t},




